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P T PART A -
is subjected to tensile stress of 120N/mmZon the verti
another compressive stress of 8¢N/mm” on the horizontal plane
e the normal & tangential stresses on a plane making an angle o
anticlockwise with the vertical plane. -

|blFor a state of stresses with o, = 85 MPa (tensile) o, = 60 MPa 13 | L3 | CO2

| (compressive) with a shear stress of 45 MPa, determine the princip
stresses and locate their planes. Also obtain maximum tangential stre
and locate corresponding planes.
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*[2lalA cast iron pipe has 200 mny intenal dian .cior and 50’ mm metai thickness] 12 | L3 | CO2
and carries water under a pressure of 5 N/mm”. Calculate the maximum
and minimum intensities of circumferential stresses and sketch the
distribution of circumferential stress inten:.iy and the intensity >f radial |
ressure across the section.
b{The inside diameter of thick cylinder is 200 mm. If the internal pressureis 13 | L3 | CO2
N/mm? and maximum permissible stress in cylinder wall is 20 N/mm®!
hat is the minimum thickness required?. If the internal pressure is to bej
creased to 12 N/mm? without exceeding maximum stress, what is the
ternal pressure to be applied? ;
PART B

3|alDerive the moment curvature equation of deflection : 12 i 12 | CO4
bCalculate slope at A and deflection at D for the overhanging beam shown.| 13 | L3 | C04
Take E=200 GPa and I =50 x 10° mm* ‘
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OR
. ex:ive an expression for slope and defiection in a simply supported beam | 12 | L2 | CO4
_subjected to UDL throughout. Caleulate the maximum slope & deflection [ ‘

ind the deflection at the free.end C of overhanging beam of rectangulayl 13 | L3 | CO4
cross section 80 mm x 100'mm. E = 210 GN/in® :
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